=
S
=
S

o(® ¢ (rad)
a(d cot(0))

/e
e

<4 +T
..... A S U E S R N I A, 2
Bag FS . B
. . . -
-+ ‘; -

0.9 : = : 0.95 : =
-1 2 3 -1
10 1 TPlp(>)T (PCA t%obeamlinélf) 10 1

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

= -

IS b oo e R
(= | . T U 2

—\Q ;N R LR LR R e e
p )

o ~

51 S

©

NI B AT
. <+

Ratio

E T H H : +].|- -l JE| b e B U
F g h 4 T o 5 |

1B LR Es -|- LR L P R B EE R . : 1
E . . B . > B

2 3
TPl;g)T (PCA t:(L)obeamIin(:eLP

0.
107 1

— A A 3 > 5
107 1 8%, (Pca tbeamiindf



	Contents
	Page 1


